. INSTAGRAM
FOLLOW US: @LINE_HAREKAT

>,
7
NN\\7Z

r
/N

PRODUCT
CATALOG

SN

LINE HAREKAT Co.

\\

EVERYTHING YOU NEED TO KNOW

AN~

Sae () game Lo gi] 97

OUR WEBSITE:
WWW.LINE-HAREKAT.IR

N



ALS R Types Clamp Type

BWALS-014 to 030 BMALS-040 BWALS-055 to 080
L L L
L1 E L2 L1 E L2 L1 E L2

m
m
103
m

|#d2|

kazd
)

| v o @ 7 N
Ole=11" 17 Ol -+ -~- - 1= Olevt+-1 PRy
e s ST ey
¢ \ - @ -

General Specifications

Misalignment Max Static trosional Radial Moment

Model Parallel Angular Axial rotation speed stiffness stiffness of inertia Mass

(mm) (©) (mm) (min-1) (N-m/rad) (N/mm) (Kg-m2) (Kg)
ALS-014-R 0.10 1 0~+0.6 10000 21 380 1.98 x 10”7 0.007
ALS-020-R 0.10 1 0~+0.8 10000 43 400 1.09 x 10 0.019
ALS-030-R 0.10 1 U=+1.0 10000 136 650 6.19 x 106 0.045
ALS-040-R 0.10 1 0=41.2 10000 1550 1700 4.01x10° 0.16
ALS-055-R 0.10 1 0~+14 7000 2000 1350 1.63 x 104 0.34
ALS-065-R 0.10 1 D~+1.5 5900 3100 1400 3.69 x 104 0.54
ALS-080-R 0.10 1 0~+1.8 4800 6000 1710 1.04 x 103 1.00

* Axial displacement is not allowed in the negative direction.

* Max. rotation speed does not take into account dynamic balance.

* Stiffness values given are from measurements taken at 20°C

* The moment of inertia and mass are measured for the maximum bore diameter.

General Specifications

Tightening

Model D DB L L1-L2 E S B G M Torque

min. min. (N-m)
ALS-014-R 0.10 0.10 14 16.1 22 7 8 1 3.5 4.8 1-M2 0.4
ALS-020-R 0.10 0.10 20 20 30 10 10 1 5 6.5 1-M25 1
ALS-030-R 0.10 0.10 30 30 35 11 13 1.5 5.5 10.5 1-M3 15
ALS-040-R 0.10 0.10 40 43.2 66 25 16 2 12.5 15 1-M5 7
ALS-055-R 0.10 0.10 55 85 78 30 18 2 10.5 20 1-M6 14
ALS-065-R 0.10 0.10 65 69.8 90 35 20 2.5 11.5 24.5 1-M8 30
ALS-080-R 0.10 0.10 80 80 114 45 24 3 11.5 30 1-M8 30

General Specifications

Standard bore dlameter d1, d2 (mm) and rated transmission torque (n-m)

3 B 5 6 635 7 8 M0 11 12 14 15 16 18 19 20 22 24 25 28 30 35 42
ALS-014-R 0.31 042 0.54 0.65

Model

ALS-020-R 12 16 21 22 26 30

ALS-030-R 20 22 34 47 654 60 74

ALS-040-R 8 16 23 31 34 34 34

ALS-055-R 38 41 48 51 54 61 67 71 80
ALS-065-R 61 68 75 79 89 96 114

ALS-080-R 108 121 151 194




BALLSCREWS »

Ballscrews consist of a screw spindle
and a nut infegrated with rolling
elements that cycle through a retum
mechanism

General Type Of Rolled Ballscrews

Size
Model Ball Circuits Dynamic Load StaticLoad W Hxt F L B C K T A M[max] <Z
Nominal Dia. Lead Dia C [kgf] C [kgf]
14-4B1 14 4 2381 2.5x1 376 682 34  M4ax7 13 35 26 22 6.5 6 M6 30 6
14-4CA1 14 4 2381 3.5x1 498 943 34 M4x7 13 35 26 22 6.5 6 M6 30 6
14-5B1 14 5 3175 2.5x1 636 1095 34  M4ax7 13 35 26 22 6.5 6 M6 31 6
16-5B1 16 5 3175  2.5x1 679 1226 42  M5x8 16 36 32 22 Vi 215 M6 36 6
20-5B1 20 5 3175 2.5x1 745 1526 48 Mé6x10 17 35 35 22 6.5 9 M6 39 5
20-10B1 20 10 4763 2.5x1 1280 2314 48 M6x10 18 58 35 35 15 9 M6 46 10
25-5B1 25 5 31756  2.5x1 845 1987 60 M8x12 20 35 40 22 65 95 M6 45 7
25-10B2 25 10 6.350 2.5x2 3816 7968 60 M8x12 23 94 40 60 17 10 M6 54 10
28-6B1 28 6 3.969 2.5x1 1203 2796 60 M8x12 22 42 40 18 12 10 M6 50 8
28-6B2 28 6 3.969 2.5x2 2184 5592 60 M8x12 22 67 40 40 135 10 M6 50 8
32-10B1 32 10 6.350 2.5x1 2413 5172 70 M8x12 26 64 50 45 95 12 M6 62 10
32-10B2 32 10 6.350 2.5x2 4379 10345 70 M8x12 26 94 50 60 17 12 M6 67 10
36-10B2 36 10 6.350 2.5x2 4592 11403 86 M10x16 29 96 60 60 18 17 M6 67 1
45-12B2 45 12 7.144  2.5x2 5963 16110 100 M12x20 36 115 75 7% 20 205 M6 80 13
M max
4-Hxt F L
A K c
- _Z_.I
= ‘ -
t H
ol i [M'H . I\MMM
r%/ —4
~ e ML- Al i LL%»
___—J p— -$-
- g

www.Line-harekat.ir 2



HIWIN.

Linear Motion Products & Technology

DIN Single Nuts FSC DIN [DIN 69051 part 5]
DIN Single Nuts FSI DIN [DIN 69051 part 5]

Lubrication hole

Lubrication hole

02
D3

L
Drill template] 1 Drill template 2
ds=32 ds =40
Article number ds p Dg6 D1 D2 D3 Drill L. L1 L2 L3 S B dk Dyn.load Statload Axialplay Mass
template Cdyn[N] CoIN] Max.[mm] [kg/pc]

9.5 40 10 10
5.5 60 10 10
6.6 52 10 10
6.6 48 10 10
6.6 57 10 10
6.6 52 10 12

M6 40 128 7320 12470 0.04 0.17
M6 40 128 6230 11000 0.04 0.25
M6 44 16.9 11560 24000 0.04 0.29
M6 44 17.3 10000 23500 0.04 0.27
M6 44 17.0 6800 15300 0.04 0.30
M6 48 223 12400 32960 0.04 0.31
6.6 65 10 16 M6 48 212 16500 32700 0.04 0.35
70 10 16 M6 48 223 7500 19300 0.04 0.37

R16-05T3-FSIDIN 16 5 28 48 38 5
5
5
5
5
5
5
5

66 12 12 6 M6 62 291 20560 64700 0.04 0.70
6
7
6
7
£
7
¥
8

R16-10T3-FSIDIN 16 10 28 48 38
R20-05T4-FSIDIN 20 5 36 58 47
R20-10K3-FSCDIN 20 10 36 58 47
R20-20K2-FSCDIN 20 20 36 58 47
R25-05T4-FSIDIN 25 5 40 62 51
R25-10T3-FSIDIN 25 10 40 62 51
R25-25K2-FSCDIN 25 25 40 62 51
R32-05T6-FSIDIN 32 5 50 80 65
R32-10T4-FSIDIN 32 10 50 80 65
R32-20K3-FSCDIN 32 20 50 80 65
R32-32K2-FSCDIN 32 32 50 80 65

85 12 16 M6 62 27.7 38500 65000 0.04 0.82
88 12 16 M6 62 28.7 17000 48500 0.04 0.88
88 12 12 M6 62 28.7 11600 31800 0.04 0.88
R40-05T6-FSIDIN 40 5 63 93 78 66 14 10 M8x1 70 36.7 23360 80300 0.04 1.10

70 14 16 M8x1 70 329 45000 123000 0.07 1.10

R40-10K4-FSCDIN 38 10 63 93 78
R40-20K3-FSCDIN 38 20 63 93 78 88 14 16 M8x1 70 329 34850 90000 0.07 1.13

7 = 7 ol I : !
(/ R40-40K2-FSCDIN | M8x1 70 329 23000 58400 0.07  1.30
/ R50-05T6-FSIDIN M8x1 85 468 25320 104200  0.07
& M8x1 85 44.9 74500 250000 O. .

i o 0O O 0O O o OO,
©I© © © © © © ©O Gy v v o &» tn O

-
!
| D

:

—
—
—
—

—
—
-—
—

R50-10K6-FSCDIN

A Fem orws - g

\ Q ¥ R50-20K5-FSCDIN ) M8x1 85 455 62000 208000
‘ \ R50-40K3-FSCDIN

—
-—
-
-

—_—
-

M8x1 85 45.0 39000 123000

N

\|

w

-

.
[ &€ —



BallScrews )

Dimension Table of HQ MOTION Ball Screws

(TYPE) : SFU(DIN 69051 FORM B)

L D 2. 2 NP, 5 NP P S 2 s

SFU01204-4
SFU01604-4
SFUO01605-4
SFU01610-3
SFU02004-4
SFU02005-4
SFU02504-4
SFU02505-4
SFU02506-4
SFU02508-4
SFU02510-4
SFU03204-4
SFU03205-4
SFU03206-4
SFU03208-4
SFU03210-4
SFU04005-4
SFU04006-4
SFU04008-4
SFU04010-4
SFUO05010-4
SFU05020-4
SFU06310-4
SFU06320-4
SFU08010-4
SFU08020-4
SFU10020-4

|: Lead

Da: Ball Dia.

Q Oil Hole

=
N
=

[ap——

n: Number of Circuits

Ca: Basic Dynamic Rating Load (Kgf)

16

20

25

32

40

50

63

80
100

© O TN OASONMN—

©oouag oo as s

-k
o

10
20
10
20
10
20
20

Da
25

2.381
3.175
3.-175
2.381
3.175
2.381
3.175
3.969
4.762
4.762
2.381
3175
3.969
4.762
6.35
3.175
3.969
4.762
6.35
6.35
7.144
6.35
9.525
6.35

D
24

o8
o8
o8
36
36
40
40
40
40
40
50
50
50
50
50
63
63
63
63
75
75
90
95

105 145
9525 1125 165
9.525 1580 202

A B
40 10

48 10
48 10
48 10
58 10
58 10
62 10
62 10
62 10
62 10
62 12
80 12
80 12
80 12
80 12
80 || 12
93 14
93 14
93 14
93 14
110 16
HON N6
125 1S
135 20
20
25
30

L
40

40
50
57
42
51
42
51
54
63
85
44
52
57
65
90
55
60
67
93
93

138
o8

149
o8

154

180

Note: with sign % can be produced in left helix

Unit : mm

K: Stiffness (Kgf/ um)
Coa: Basic Static Rating Load(Kgf)

Dimensions

W
32

38
38
38
47
47
51
51
51
51
51
65
65
65
65
65
78
78
78
78
93
93
108
115
125
145
170

X H
4.5 30
55 40
55 40
55 40
6.6 44
6.6 44
6.6 48
6.6 48
6.6 48
6.6 48
6.6 48
9 62
9 62
2 62
9 62
9 62
= 70
9 70
9 70
9 70
11 85
11 85
11 95
13.5 100
13.5 110
13.5 130
17.5 155

Q

M6
M6
M6
M6
M6
M6
M6
M6
M6
M6
M6
M6
M6
M6
M6
M8
M6
M6
M8
M8
M8
M8
M8
M8
M8
M8

1x4
1x4
1x4
1x3
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4
1x4

Ca
902

973
1380
1103
1066
1551
1180
1724
2318
2963
2954
1296
1922
2632
3387
4805
2110
2873
8712
5399
6004
7142
6719
11444
7346
12911
14303

Coa
1884

2406
3052
2401
2987
3875
3795
4904
6057
7313
7295
4838
6343
7979
9622
12208
7988
9913
11947
15500
19614
22588
25358
36653
31953
47747
60698

26
32
32
26
38
39
43
45
47
49
50
o1
54
57
60
61
63
66
70
73
85
94
g9
112
109
138
162

www.Line-harekat.ir 4



2-3-12 Dimensions for HIWIN MGN / MGW Series

I

(1) MGN-C / MGN-H MOTION
DS IR
W ‘—"Li'" = Mo
MGN 7, {@4 ] e\
MGN 9 § m {E; aggﬁ
. I : oY = -]
MGN 12, £ - }/EU/VF ' : i
. | l@d ‘ E M
= E P A
G L iH
Ls
C
2D : My
— I = [ — N
| =l Lo H/ﬁ == o o
| T e i ] & O
| e ] e ] e o
|__E L P
Mountin Basic  Basic _
Dimensions of : : ; : ; . Dynamic Static Static Rated e
Dimensions of Block Dimensions of Rail Bolt
iy Assembly (i) (i) for Rail Load Load Moment _
QOEIAe: (mm) () Rating Rating (kgf-m) Block kR7'I
(kgf) (kgf) (9) (kg/m)
H HH N W B By C L1 L G M Ga | Fs | We T H: D h d P E G Co Mo My My
MGN7-C 8 13.5 225 100 127 048 029 0.29 10
8 15 5 17 12 2.5 - M2x250108 15 7 48 42 23 24 15 5 M2x6 0.22
MGN7-H 13 218 30.8 i g 140 200 078 049 049 15
MGN9-C 10 18.9 289 190 260 1.2 0785 075 16
> : - [10. . ) y : . .
MGNO-H 102 55 200 15 25 16 29.9 399 M3x3 008 1.8 9 65 6 35 35 20 7.5 M3x8 260 410 2 19 19 26 0.38
MGN12-C 15: 21.7 34.7 290 400 2.6 1.4 1.4 34
1 . . - 5 00. : : : 1 :
MGN12-H S 3 TD 2 20 3.5 20 324 454 M3x3.5(110.8 25 12 8 6 45 35 25 0 M3x8 380 500 3.9 3.7 3.7 54 0.65
MGN15-C 20 26.7 42.1 470 570 4.6 2.2 2.2 59
16 4 85 32 25 35 45 M3x4 + 3 15 10 6 45 35 40 15  M3x10 1.06
MGN15-H 25 434 58.8 g g 650 930 75 59 59 92
(2) MGW-C / MGW-H
SO L -
- ke -]
MGW 7, @D o
B |
MGW 9, ] G s )
MGW 12, g AL - T T
E | o ’ N
| e T e ; p— R
!-..B}.-;.- i szeny B - Gy L | \ !
4-Mx( : : | i :
i . - A — = | = it i)
| | @?L T ﬁ@ . = 7T |;.f’-— v - \ | My
MGW 15, | 1Py FI T : | X
e : R S T S e x l , , e o ||
= "" b s e | P , Ll e o |F—
——— WR
™
21 /
. : Mounting . : : Weight
HARNE NSk Dimensions of Block Dimensions of Rail Bolt BVRAI e el SlliGileg
Nodeit Assembly (i) (mm) for Rail Load Load Moment _
odelNo.  rim) mm)  Réting  Rating (kgf-m) Block kR‘;“'
(kgf) (kgf) (9) (kg/m)
H HH N W B By C L4 L G Mx{ Ghn, H We We HR D h d P E & Co Mo My My
MGW7-C 10 21 31.2 140 210 1.6 0.73 0.73 20
9 19 55 25 19 3 - M3x3 (109 185 14 - 52 6 3.2 35 30 10 M3x6 0.51
MGW7-H 19 308 41 g g 180 320 239 158 158 29
MGW9-C 21145 12 275 393 280 420 409 193 1.93 40
12 29 6 30 = M3x3 1.0 24 18 - T 6 45 335 30 10 M3x8 0.91
MGW9-H 20PN 240038 5 | 500 g 350 600 906 347 347 57
MGW12-C 15 31.3 46.1 400 570 17 283 283 71
14 34 40 2 - M 6010 2. 24 - ; 45 45 40 1 M4 x1 14
MowizaH 4 34 8 4028 6 0 o6 604 36010 24 89 B 4o 4240 T MM o g0 1047 585 585 q03 0
MGW15-C 20 38 548 690 940 2032 578 578 @143
16 34 9 '60 45 7.5 52 M4x42 + 3.2 42123 95 8 4.5 45 40 15 M4x10 2.86
MGW15-H 35 73.8 910 1410 3048 125 @ 125 | 215

o7

V|




2-2-13 Dimensions for HIWIN EG Series
(1) EGH-SA / EGH-CA

K4 K,

L G
Ks L1
KZ\-MX|
— R ,, 1R
O O i
T ’,’/
J E 1 )
T I
Ld '
N Wk | EGH-CA EGH-SA
E P E
\ 6
Me
%ﬁRN S S
@ @ @ —]
: , : Basic Basic :
Dimensions Mounting , : Static Rated :
: . . . . Dynamic Static Weight
of Assembly Dimensions of Block (mm) Dimensions of Rail (mm)  Bolt for ioad | [ load Moment
Model No.  (MM) Rall | pating Rating |
My M, M, Block Rail
H H NWBB C L L K K G Md T HH WeH: D h d P E (mm) C(kN) GKN)  N-m kN-m kN-m o ko
EGH15SA - 231 401 1438 5.35 940 008 0.04 0.04 0.09
24 45 95 34 26 4 35 57 M4x6 6 55 6 15 125 6 45 35 60 20 M3x16 1.25
EGH15CA 26 39.8 56.8 10.15 7.83 1619 013 [ 010 010 20415
EGH20SA - 29 50 1875 1.23 1274 013 0.06 0.06 0.15
28 160 11 42 32 5 415 12 M7 75 6 6 20 15595 85 6 60 20 Mb5x16 2.08
EGH20CA 32 481 691 123 10.31 2113 022 016 0.16 0.24
EGH25SA - 395 591 218 11.40 19508 023 1012 012 2025
33 | & 125 48 35 65 455 12 M6x9 8 8 8 23 18 11 9 7 60 20 M6x20 2.67
EGH25CA 35 59 826 1615 16.27 3240 038 032 032 041
EGH30SA - 415 695 26.75 16.42 2810 040 021 021 045
42 10 16 60 40 10 6 12 M8x12 9 8 9 28 23 11 9 7 80 20 M6x25 4.35
EGH30CA 40 704 981 21.05 2370 4746 068 055 055 0.76
EGH35SA = 45 75 285 2266 23738 056 0.31 0.31 066
48 11 18 70 50 10 7 12 M8x12 10 85 85 34 275 14 12 9 80 20 M8x25 6.14
EGH35CA 50 78 108 20 33.35 64.84 098 069 069 113

www.Line-harekat.ir




MOTION

Dimensions Mounting  Basic Basic Static Rated Weight
Model No. Of Assembly Dimensions Of Block (mm) Dimensions Of Rail (mm) Bolt For  Dynamic Static Moment Block  Rail
(mm) Rail LoadRating LoadRatng Mg  Mp My

H HI N W B By C Ly L K Ky G ML T H; Hi Wg Hg D h d P E (mm)  C(kN) Co(kN) kN-m kN-m kN-m Kg Kg/m
HGH15CA 28 43 95 34 26 4 26 394 614 10 485 53 M4x5 6 795 77 15 156 75 53 45 60 20 M4x16 11.38 16.97 012 010 0.10 0.18 1.45
HGH20CA 30 46 12 44 32 6 36 505 775 1225 6 12 M5x6 8 6 6 20 175 95 85 6 60 20 M5x16 17.75 27.76 027 020 020 0.30 221
HGH20HA 30 46 12 44 32 6 50 652 922 126 6 12 M5x6 8 6 6 20 175 95 85 6 60 20 M5x16 21.18 35.90 035 035 035 039 2.21
HGH25CA 40 55 125 48 35 65 35 58 84 157 6 12 Méx8 8 10 9 23 2 11 9 7 60 20 M6x20 26.48 36.49 042 033 033 05 3.21
HGH25HA 40 55 125 48 35 65 50 786 1046 185 6 12 M6x8 8 10 9 23 2 11 9 7 60 20 M6x20 32.75 4944 056 057 057 069 321
HGH30CA 45 6 16 60 40 10 40 70 974 2025 6 12 M8x10 85 95 138 28 26 14 12 9 80 20 M8x25 38.74 5219 066 053 053 088 447
HGH30HA 45 6 16 60 40 10 60 93 1204 2175 6 12 M8x10 85 95 138 28 26 14 12 9 80 20 M8x25 47.27 69.16 088 092 092 1.16 4.47
HGH35CA 655 75 18 70 50 10 50 80 1124 206 7 12 M8x12 102 16 196 34 20 14 12 9 80 20 M8x25 49.52 69.16 116 081 081 145 6.30
HGH35HA 655 75 18 70 50 10 72 1058 1382 225 7 12 M8x12 102 16 196 34 29 14 12 9 80 20 M8x25 60.21 91.63 154 140 140 192 6.30
HGH45CA 70 95 205 86 60 13 60 97 1394 23 10 129 M10x17 16 185 305 45 38 20 17 14 105 225 M12x35 77.57 10271 198 155 155 273 1041
HGH45HA 70 95 205 86 60 13 80 1288 1712 289 10 129 M10x17 16 185 305 45 38 20 17 14 105 225 M12x35 94 .54 13646 263 268 268 361 10.41
HGHS5CA 80 13 235 100 75 125 75 1177 1667 2735 11 129 Mi12x18 175 22 29 53 44 23 20 16 120 30 M14x45 114.44 14833 369 264 264 417 1508
HGH55HA 80 13. 235 100 75 125 75 1558 2048 364 11 129 M12x18 175 22 29 53 44 23 20 16 120 30 M14x45 139.35 19620 488 457 457 549 1508
HGHE5CA 90 15 315 126 76 25 70 1442 2002 431 14 129 M16x20 25 15 15 63 53 26 22 18 150 35 M16x50 163.63 21533 665 427 427 700 2118
HGHB5HA 90 15 315 126 76 25 120 2036 2596 478 14 129 M16x20 25 15 15 63 53 26 22 18 150 35 M16x50 208.36 30313 938 738 738 982 21.18

HG Series Heavy Load Ball Type HG Series Heavy Load Ball Type
HGH-CA / HGH-HA HGW-CA / HGW-HA >
LI
[' Ky = o | @ @
$ 9 1 + 1
- S §’|3=* —
1 £ +
4 & ‘ ) )
G L
K: Ls G L
c ‘ B w \ K; L
A i ' ‘*M\ 1 B c
t‘ %L‘* ; _fl = ']1 . a0 _ % b ]
: = g UL Ny i g T U, S T =
£ | = : \ éi-i-@aj :':I ¥ —==|HRY v, =
=== = e - L | o0 i 4.
v J H
N -&:—‘I " 0d . LL_
Mg Mp Ny My
% o e — A N :f‘\a
o ! i ; i
@A =H = == T wolw ==
Dimensions Mounting  Basic Basic Static Rated Weight
Model No. Of Assembly Dimensions Of Block (mm) Dimensions Of Rail (mm) Bolt For  Dynamic Static Moment Block  Rail
(mm) Rail Load Rating Load Rating Mg Mp My

H HH N W B B C Ly L K K G M T Ty H Hi Wsg HR D h d P E (mm) CKN)  ColkN) kN-m kN-m kN-m Kg Kgm
HOWISCA 24 43 16 47 38 45 30 394 614 8 48 53 M5 6 89395 37 15 15 75 53 45 60 20 M4x16  11.38 1697 012 010 010 0417 145
HGW20CA 30 46 215 63 53 5 40 505 775 1025 6 12 M6 8 10 6 6 20 175 95 85 6 60 20 M5x16  17.75 2776 027 020 020 040 221
HGW20HA 30 46 215 63 53 5 40 652 922 176 6 12 M6 8 10 6 6 20 175 95 85 6 60 20 M5x16  21.18 3590 035 035 035 052 221
HOW25CA 36 55 235 70 57 65 45 58 8 107 6 12 M8 8 14 6 5 23 22 1M1 9 7 60 20 M6x20 2648 3649 042 033 033 059 321
HGW25HA 36 55 235 70 57 65 45 786 1046 21 6 12 M8 8 14 6 5 23 2 11 9 7 60 20 M6x0 3275 4944 056 057 057 080 321
HGW30CA 41 6 31 90 72 9 52 70 974 1425 6 12 M10 85 16 65 108 28 26 14 12 9 80 20 M8x25 3874 5219 066 053 053 109 447
HGW30HA 41 6 31 90 72 9 52 93 1204 2575 6 12 M0 85 16 65 108 28 26 14 12 9 80 20 M8x25  47.27 6916 088 092 092 144 447
HGW35CA 48 75 33 100 8 9 62 80 1124 146 7 12 M0 101 18 9 126 34 29 14 12 9 80 20 M8x25 4952 69.16 116 081 081 156 630
HGW35HA 48 75 33 100 8 O 62 1058 1382 275 7 12 M10 101 18 9 126 34 29 14 12 9 80 20 M8x25 6021 9163 154 140 140 206 630
HGW4SCA 60 95 375 120 100 10 80 97 1394 13 10 129 M12 151 22 85 205 45 38 20 17 14 105 225 M12x35  77.57 10271 198 155 155 279 1041
HGW4SHA 60 95 375 120 100 10 80 1288 1712 289 10 129 M12 151 22 85 205 45 38 20 17 14 105 225 M12x35 94.54 13646 263 268 268 369 1041
HGWS5CA 70 13 435 140 116 12 95 117.7 1667 17.35 11 129 M14 175265 12 19 53 44 23 20 16 120 30 M14xd5 11444 14833 369 264 264 452 1508
HOGWS5HA 70 13. 435 140 116 12 95 1558 2048 364 11 129 M14 175265 12 19 53 44 23 20 16 120 30 M14x45 13935 19620 4.88 457 457 596 1508
HGWE5CA 90 15 535 170 142 14 110 1442 2002 231 14 129 M6 25 375 15 15 63 53 26 22 18 150 35 M16x50 16363 21533 665 427 427 917 21.18
HGWBSHA 90 15 535 170 142 14 110 2036 2596 528 14 129 M16 25 375 15 15 63 53 26 22 18 150 35 M16x50 20836 30313 938 738 738 1289 21.18




SBR Aluminum Case Unit Open
Part No. L/B D W G
SBR16UU LM16UUOP 225 45 33
SBR20UU LM20UUOP 24 48 39
SBR25UU LM25UUOP 30 60 47
SBR30UU LM30UUOP 35 70 56
SBR35UU LM35UUOP 40 80 63
SBR40UU LM4OUUOP 45 90 72
SBR50UU LMS50UUOP 60 120 91

E

)

80°
60°
50°
50°
50°
50°
50°

—— - -

h +0.02

’ '
—  —— — - c—

Dz0.02

A

9
1
14
15
18
20

M

45
50
65
70
80
90

Sxé

M5x12
M6x12
M6x12
M8x18
M8x18
M10x20

25 110 M10x20

h1

11
11
12
15
17
20
25

SCE ALUMINIUM Case Closed

Part No.

SC8UU-B

SC10UU-B
SC12UU-B
SC12UU-B
SC13UU-B
SC16UU-B
SC20UU-B
SC25UU-B
SC30UU-B
SC35UU-B
SC40UU-B
SC50UU-B

L/B

LM8UU
LM10UU
LM12UU
LM12UU
LM13UU
LM16UU
LM20UU
LM25UU
LM30UU
LM35UU
LM40UU
LM50UU

1"
13
15
15
15
19
21
26
30

40
52

17
20
22
21

25
27

39
45
51
61

W

40

LTERIE

78

102
122

H

22
26
30
28
30
38.5
41
51.5
59.5
68
78
102

G A J E
18 6 24 5
21 8 28 6
245 8 33 55
24 74 305 5.75
245 8 33 55
325 9 36 7
3% 11 40 7
41 12 54 1N
49 15 588 10
5 18 70 10
62 20 80 11
80 24 100 M

TBR Aluminum Case Unit Open

Part No. L/B D wW G 66 A M S8S1 hlt E
TBR16UU LM16UUOP 31 62 26 80° 8 42 M5 11 18
TBR20UU LM20UUOP 34 68 31 60° 10 51 M6 11 21
TBR25UU LM25UUOP 41 82 41 50° 12 65 M8 12 28
TBR30UU LM30UUOP 455 91 48 50° 12 75 M8 15 34
_Tlghteningboll
: |
o 3 f 2-S * {' U'
L ' | ‘
- ]
. Lyt
- B -
SK Shaft Support

PartNo. LM Shaft h A W H T E D C B

Diameter
SK8 »8 20 21 42 328 6 18 5 32 14
SK10 ®10 20 21 42 328 6 18 5 32 14
SK12 ®12 23 21 42 38 6 20 5 32 14
SK13 ®13 23 21 42 38 6 20 5 32 14
SK16 D16 27 24 48 4 8 25 5 38 16
SK20 ®20 31 30 60 51 10 30 75 45 20
SK25 ®25 35 35 70 60 12 38 7 56 24
SK30 ®30 42 42 84 70 12 44 10 64 28
SK35 ®35 50 49 98 8 15 50 12 74 32
SK40 D40 60 57 114 96 15 60 12 90 36

www.Line-harekat.ir




N[ P N |
— L -
SBS Support Rail Unit
LM Shaft
PartNo.  Outer = h B - T F X Y C
Diameter
SBS16 D16 20 25 40 1779 5 185 8 117 30
SBS20 ®20 225 27 45 1772 5 19 8 10 30
SBS30 ®25 275 33 55 2113 6 215 8 12 35
SBS35 ®30 30 37 60 2285 7 265 103 13 40
SBS35 ®35 325 43 65 2662 8 28 13 155 45
SBS40 ®40 375 78 75 2943 9 38 16 17 55
SBS50 ®50 475 62 95 3879 11 45 20 21 70
B H
h
o

LL] % [AF—

LMF Flanged Linear Bushing

Part No. Working
Bore Diameter
Resin Steel dr. Clear NCE
(mm) (mm)
LMFBUU-SUS LMF-6-A 6
LMF8UU-SUS 8
LMF8UU-SUS LMF-8-A 8
LMF10UU-SUS LMF-10-A 10 0/-0.009
LMF12UU-SUS LMF-12-A 12
LMF13UU-SUS LMF-13-A 13
LMF16UU-SUS LMF-16-A 16
LMF20UU-SUS LMF-20-A 20
LMF25UU-SUS LMF-25-A 25 0/-0.010
LMF30UU-SUS 30
LMF35UU-SUS 35
LMF40UU-SUS 40 0/-0.012

dr.
(mm)
12
15
15
19
21
23
28
32
40
45
52
60

Clear NCE

(mm)

0/-0.011

0/-0.013

0/-0.016

0/-0.019

L= [
e - ——

| ice0c00000071 |

AAAAAAAA |

TR

LME Closed Linear Bushing

Part No. Working D
Bore Diameter
Resin Steel dr. Clear NCE dr. Clear NCE
(mm) (mm) (mm) (mm)

LME5SUU-SUS LME-5-A 5 12

LME8SUU-SUS LME-8-A 8 +0.008 16 0/-0.008
LME12UU-SUS LME-12-A 12 22

LME16UU-SUS LME-16-A 16 +0.009/-0.001 26 0/-0.009
LME20UU-SUS LME-20-A 20 32

LME25UU-SUS LME-25-A 25 0/-0.011 40 0/-0.011

- L -
H
| h
)
| |
‘ ooooo -» 2 & v\ ]
-
o E——— AN o
;‘IL j i
Al
L] % A+

LMK Flanged Linear Bushing

Part No. Working D
Bore Diameter
Resin Steel dr. Clear NCE dr. Clear NCE
(mm) (mm) (mm) (mm)

LMK6UU-SUS LMK-6-A 6 12
LMK8UU-SUS 8 15 0/-0.011
LMK8UU-SUS LMK-8-A 8 15
LMK10UU-SUS LMK-10-A 10 0/-0.009 19
LMK12UU-SUS LMK-12-A 12 21 0/-0.013
LMK13UU-SUS LMK-13-A 13 23
LMK16UU-SUS LMK-16-A 16 28
LMK20UU-SUS LMK-25-A 20 32
LMK25UU-SUS 25 0/-0.010 40 0/-0.016
LMK30UU-SUS 30 45
LMK35UU-SUS 35 52
LMK40UU-SUS 40 0/-0.012 60 0/-0.019

g LMF50UU-SUS 50 80 LMK50UU-SUS 50 80



Gearbox »

LB Series (L1 single Stage]
Standard Type Planetary Reducers

Satge L1 (Single Stage)
Speed Ratio 3,4,5,7,10
Output End 143.5 Input End
Specification :
43.5 10 40
Gear Ratio 10:1 #100 3
Rated Torque 45 N.m I 28
i 4

Instant Stop Torque 2 Times of rated torque {’ NS :ﬁ——--—| . o ~

Rl o1 1 P@—a T T Y8
Max Ratial Torque ‘ ° “Ht—s = *

q 650 N \ i s
Max Axial Torque 900 N |
Full Load Efficiency 96% e 405 "
Intetia 0.34 kgcm
Backlash <8arcmin
Noise 60dB(A),distance 1m
Technical Date:
Gear Ratio 10:1 Output End Input End
Rated Torque 15 N.m 570
; 113 60X60
Instant Stop Torque 2 Times of rated torque 360 4—M5 21 5 35
’ %] .
Max Ratial Torque 340 N = - 2,280
5 G,
Max Axial Torque 450 N / 9 . 251 / I////-ﬁ§=¥5%é-\ 970
e O O = ol < W%{/g/ﬁ»"//f/tl |
Full Load Efficiency 96% NR° i < N = -|\ '.’15 |
#bfpnm oS {D =05 | ° ) ‘H [/
Intetia 0.078 kgcm
5 B8 4-M4

Backlash <8arcmin 30.5 ~
Noise 60dB(A),distance 1m

www.Line-harekat.ir




LB Series [L2 Double Stage]

Standard Type Planetary Reducers

Satge
Speed Ratio

Specification :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

Specification :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

L2 (Double Stage)

15, 20, 25, 30, 35, 40, 50, 70, 100

251

120 N.m

2 Times of rated torque
650 N

900 N

96%

0.44 kgcm

<10arcmin

60dB(A),distance 1m

251

40 N.m

2 Times of rated torque
240 N

450 N

94%

0.064 kgcm

<10arcmin

60dB(A),distance 1m

Output End
90x90

2100

Input End
80X80

Output End
@70
360 4—M5
5
/
00
= @
~ # 6fhm

850G/

161.5
43.5 10 40
3
| 28
dL7
|
~ o~ N
8 91— Hlo—a—{-F— 138
Y e | __J el &
D
|
|
40.5 -
126
31.5 335
25
i ) 2.5
N NN
O (@ ] =
<t Lg Ce) L%
o o
30.5

AR
s

J

Input End
60X60

—’lb.‘
N7 a%\ “
N ‘!




Gearbox »

LE Series (.1 single Stage]
Circular Flange Type Planetary Reducers

Satge
Speed Ratio

Technical Data :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

Technical Data :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

L1 (Single Stage)

3,4,5,7,10

10:1

45 N.m

2 Times of rated torque
650 N

900 N

96%

0.45 kgcm

<10arcmin

60dB(A),distance 1m

10:1

15 N.m

2 Times of rated torque
340 N

450 N

96%

0.078 kgcm

<8arcmin

60dB(A),distance 1m

Output End

S 4—M6%0

/""\
™ 880

6

245

3 {Agmé

Output End
/0

260 4—M5

18

== 71 bfnm

30.6

143.5
435 15 40
3
28
2 4
N N~
33 31— 3¢
DN Y 5 ©
40.5
113
25
31.56 3
= 25
2.5
NS P ™S
Ol G = ™~ o
O < @) = OO
LO)| A (S —! L)
|| & S Q
@ G1OMs)

Input End
80X80

| X

\)(/'._\

A o e N /
o AT
\\ A,

. v@f

A )

'/\ .‘ //_I

AN,

Input End

60X60

()
2 !
2 o

A X

_ £ N\ ‘”--lll//l/ 2,

/////‘//‘{////gy:‘ ////7//,“
d %

cay=

L

www.Line-harekat.ir




LE Series (.2 bouble Stage]

Circular Flange Type Planetary Reducers

Satge
Speed Ratio

Technical Data :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

Technical Data :
Gear Ratio

Rated Torque
Instant Stop Torque
Max Ratial Torque
Max Axial Torque
Full Load Efficiency
Intetia

Backlash

Noise

L2 (Double Stage)

15,20,25,30,35,40,50,70,100

29:1

110 N.m

2 Times of rated torque
650 N

900 N

94%

0.39 kgcm

<10arcmin

60dB(A),distance 1m

29:1

40 N.m

2 Times of rated torque
240 N

450 N

94%

0.064 kgcm

<10arcmin

60dB(A),distance 1m

290

260

Output End
B 4—-M6# 0
i 880
6
0 o
-
N ©) }g
= M6 %18

Output End 370

4—MS

18
o

161.5
43 5 15 40
5
28
g7 4
~N N NS
O O O L
N — S} o S
s = s ©
40.5
126
1.5 59
S S
25
= B 2.5
~ o~ N
O O & N~ ET e
O <+ W = | O
O ~— 1S S — 0
| & S
@ 505
0.5

Input End
80X80

i

////”’///

250\

‘

///\

\\'

Y222 //////|

'///////////// 7

Input End
60X60

g,
//////{///4
|\

I///

Jﬁ/ -
& =




SE 60 Series [Single& Double Stage]
Circular Flange Type Helical Planetary Reducers

Technical Data :
Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

Technical Data :
Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

95 %

3000 min-1

2 Times of rated torque

650 N

Synthetic grease lubrication
arbitrary

95 %

20000 H

3.7 Kg

& 1t;3 arcmin

& 1t;5 arcmin

2400 N
2200 N

P14X 30/ @ 50X 3/4 - $5.5 - D70

95 %
3000 min-1
25° ~ -25

o o

+ 90
6000 min-1

Synthetic grease lubrication
arbitrary

95 %

20000 H

3.7 Kg

& 11t;3 arcmin

& 1t;5 arcmin

2400 N
2200 N

P14X 30/@ 50X 3/4 - 5.5 - P70

Rate output torqu
Fault stop torque
Moment of inertia
Allow radial load

Allow axial load

1— M5 /

Rate output torqu
Fault stop torque
Moment of inertia
Allow radial load

Allow axial load

1715

e

05096(~591%)

e

0.17Kgcm 0.16Kgcm 0.14Kgcm 0.14Kgcm' 0.14Kgcm

36
28 6.5
5% 33
h- 1 o 5
N
4.5
33
3 4 5 7
18 Nm 27Nm 27Nm 75Nm
80Nm 100Nm  100Nm  100Nm
0.22Kgcm
430 N 470N 510N 620N
310N 360N 390N 510N
136
36
28 5
S I . il
$ N | _1lsd =4
& = Bt |- _ ng
< 25 s €
45

18 Nm

S8ONmM

0.14Kgcm

740 N
630 N

16
27Nm

100Nm

0.14Kgcm 0.13Kgcm 0.13Kgcm 0.13Kgcm' 0.13Kgem'

750N
650N

20
27Nm

100Nm

810N
720N

25
75Nm

100Nm

870N
790N

9
18Nm

S8O0NmM

10
18Nm

S80ONmM

620N 640N

510N 530N
Input
063

@,

\/‘1-—"\.

28
18Nm
100Nm

910N
830N

www.Line-harekat.ir

30
18Nm

S8ONmM

930N
860N




SE 90 Series [Single& Double Stage]
Circular Flange Type Helical Planetary Reducers

Technical Data :

Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

Technical Data :
Full Load efficiency

Rated input speed
Operating temperature
Maximum input speed
Lubrication

Installation

Full load efficiency

Life expectancy

Weight

Return clearance

Return gap (economic type)
Maximum allowable radial load
Allow maximum axial load

Maker size

15,

95 %

3000 min-1

25" ~ +90

6000 min-1

Synthetic grease lubrication
arbitrary

95 %

20000 H

3.7 Kg

& 11t;3 arcmin

& 1t;5arcmin

2400 N
2200 N

P19X 35/@ 70X 3/4 - ¢6.5 - P90

95 %

3000 min-1
25" ~ +90°
6000 min-1
Synthetic grease lubrication
arbitrary

95 %

20000 H

3.7 Kg

& 1t;5 arcmin
& 1t;7 arcmin
2400 N

2200 N

P19X 35/@ 70X 3/4 - $6.5 - P90

Rate output torque
Fault stop torque
Moment of inertia
Allow radial load

Allow axial load

Rate output torque
Fault stop torque
Moment of inertia
Allow radial load

Allow axial load

i

L“f’:(':)[(f—ll e

w6 8g6(_50%, )

123 foe
47
= = . 890
:Q:-;- 3 a0 \ ® ‘E
= | S
,——i&—-) .I"."t',f_ .Hﬁ

3 4 ) 7 10
50 Nm 75Nm 75Nm 75Nm S50Nm
200Nm 250Nm 250Nm 250Nm 200Nm
1.2Kgcm® 0.95Kgcm 0.86Kgcm® 0.79Kgem’ 0.75Kgem’
810 N 890N 960N 1100N 1200N
930 N 1100N 1200N 1300N 1600N

17
. 86 | =
-l [ I A A
;1' g 120 il E ® E
18
20
78
F5780
s 18/ 1

15 16 20 25 28 30
50 Nm 75Nm 75Nm 75Nm 75Nm 50Nm
200Nm 250Nm 250Nm 250Nm 250Nm 200Nm
0.72Kgcm  0.74Kgem 0.72Kgem’ 0.71Kgem’ 0.73Kgem® 0.70Kgem’
1400 N 1400N 1500N 1600N 1700N 1700N
1900 N 1900N 2100N 2200N 2200N 2200N




SE 120 Series [Single& Double Stage]
Circular Flange Type Helical Planetary Reducers

Technical Data :

Rate output torque 120N

Rated input speed 3000 min-1

Operating temperature -25° ~ +90° Input
Maximum input speed 6000 min -1 "o -
Lubrication Synthetic grease lubrication

Installation arbitrary a

Full load efficiency 95 % E ﬁ Fe— = t s

Life expectancy 20000 H 12 0

Weight 8 Kg

Return clearance & 1t;3 arcmin .

Return gap (economic type) & 1t;5 arcmin .

Permitted radial load 2000 N

Allow axial load 2500 N

Maker size 22X 55/ P 110 X 8/4 4 9 -P145

Technical Data :

Rate output torque 180N

Rated input speed 3000 min-1 _—

Operating temperature 25" ~ +90° »

Maximum input speed 6000 min -1 1 . .
Lubrication Synthetic grease lubrication ol 1 L&
Installation arbitrary Eg —rT1- *%b%
Full load efficiency 95 % | : =
Life expectancy 20000 H i

Weight 8 .9Kg o

Return clearance

Return gap (economic type)
Permitted radial load
Allow axial load

Maker size

& 11t;5 arcmin

& 1t;7 arcmin

2700 N

3700 N

@22 55/ P 110 X 8/4 9 9 -P145

www.Line-harekat.ir




1.400W Brake
K Servo motor

MOTION
20 T ' ]—
o 8 [t i ]
%‘Jgﬁ ?_Amms g g <_A 1l - i) o =
Va / F
A
T N A
Motor Technical Specification
Name Value Unit Name Value Unit
Rated Power 400 W Rated Voltage 220 V
Rated Speed 3000 RPM Peak Speed 6000 RPM
Rated Current 2.5 Arms Peak Current 7.5 Arms
Rated Torque 1.27 N.m Peak Torque 3.81 N.m
Wl-ndlng )6 0 Winding c g H
Resistance Inductance
Voltage . Torque
e et 30.9 V/1000r/min Coefficient 0.51 N.m/A
Rotor Inertia 0.5 Kg.m2x10'4 Encoder 2lpaltsiolipotelineremental
encoder
Braking ,
1.5 N.m Brake With brake
Torque
2.400W Tl I -
Hl HE A 1 ‘_A_H] ; - o~
NIX Servo motor =
Motor Technical Specification
Name Value Unit Name Value Unit
Rated Power 400 W Rated Voltage 220 Y
Rated Speed 3000 RPM Peak Speed 6000 RPM
Rated Current 2.5 Arms Peak Current 7.5 Arms
Rated Torque 1.27 N.m Peak Torque 3.81 N.m
Wl.ndlng )6 0 Winding 5 g o
Resistance Inductance
Voltage . Torque
- 30.9 V/1000r/min CEaktciant 0.51 N.m/A
Rotor Inertia 0.45 Kg.mleo'4 Encoder Slpalisiorpeleinciemchtdl

encoder




R

MOTION

3.750W Brake

132,50 41

MOTION

@80 £0.1
63,64

48.10

53,50

i‘[—i—
"g& /; T é r—A [[I
%ﬂﬁ A_AIISWIS fé = L_A _! 2
w1 2
%%nensr-n (AWP)
Name Value
Rated Power 750
Rated Speed 3000
Rated Current 4.8
Rated Torque 2.4
Wl.ndmg -
Resistance
Voltage 257
Constant
Rotor Inertia 1.5
Braking
4
Torque
4.750W
4
=143) Servo motor
MOTION
Name Value
Rated Power 750
Rated Speed 3000
Rated Current 4.8
Rated Torque 2.4
W|.nd|ng | 38
Resistance
Voltage
2.
Constant 32.7

300450
|

REEY
K&, 1721691 (AWP)
1703591 (AVP

=

HER
BA. 172165-1 (AWP)
. 1703801 (AWP

Motor Technical Specification

Unit Name Value Unit
W Rated Voltage 220 Vv
RPM Peak Speed 6000 RPM
Arms Peak Current 14.4 Arms
N.m Peak Torque 72 N.m
0 Wincing 4.7 mH
Inductance
: Torque
1 . .
V/1000r/min Coefficient 0.54 N.m/A
Kg.mx10™ Encoder 5 pairs of pole incremental
encoder
N.m Brake With brake
%to,ll:ir— 96.50 +1 — - onn
21,50 8 25A 4 ’ \/M
' 3 S 3
iﬂﬁ A-AWS o S . JII 2 i > ‘ )
AT 2 T | %= ;

E’ 5835
&ﬁ: 172169-1 (N’)

(R
B#. 1721671 (
mTé . 1703501 (AWP

HP)
. 170360-1 (AW)

Motor Technical Specification

Unit Name Value Unit
W Rated Voltage 220 V
RPM Peak Speed 6000 RPM
Arms Peak Current 14.4 Arms
N.m Peak Torque 7.2 N.m
0 Winding 4.7 H
Inductance
Torque

V/1000r/min 0.54 N.m/A

Coefficient

www.Line-harekat.ir



L

MOTION

7.1kw 130mm Flange

Hl Servo motor

MOTION

Name
Rated Power
Rated Speed

Rated Current
Rated Torque
Winding
Resistance
Voltage
Constant

Rotor Inertia

Braking
Torque

°q 6
<@
&

0
18.50 —0.2

g ;é NG 20

i A-A

o 11017 (.0)

)
|—1>S

52

110
QC{

22h6 (-g 13

=
¢2si |

5 £0.5

=

=l

I

L +]

Value
1000
2000
4.7
4.77

2.04

66.2

9.3

@ 145
102,53
-

Motor Technical Specification

Unit
W
RPM
Arms
N.m

Q
V/1000r/min
Kg.m°x10™

N.m

8.1kw with brake 130mm Flange

Y,
1s Servo motor
MOTION
Name Value
Rated Power 1000
Rated Speed 2000
Rated Current 4.7
Rated Torque 4.77
Wl.ndlng 5 04
Resistance
Voltage
Constant gaz
Rotor Inertia 115
Braking 15
Torque

Motor Technical Specification

Unit
W
RPM
Arms
N.m

Q
V/1000r/min
Kg.m2x10'4

N.m

Lo o8
Name Value Unit
Rated Voltage 220 V
Peak Speed 3000 RPM
Peak Current 14.1 Arms
Peak Torque 14.31 N.m
Winding . .
Inductance
Torque
Coefficient 1.02 N.m/A
Encoder 5 pairs of pole incremental
encoder
Brake /
Q T ng’ : N
—

Name

Rated Voltage

Peak Speed
Peak Current
Peak Torque
Winding
Inductance
Torque
Coefficient

Encoder

Brake

Value Unit
220 Vv
3000 RPM
14.1 Arms
14.31 N.m
1355 mH

1.02 N.m/A
5 pairs of pole incremental
encoder
With Brake

www.Line-harekat.ir




Inverter »

H300 SERIES HIGH PERFORMANCE

FEATURES

*With advanced open loop vector control technology, and excellent voltage and current
control technology;

«Starting Torque 0.5Hz/150%,speed ratio 1:100,dynamic response<20ms,speed
precisiont0.2%;

*Wide voltage range design,AC 3PH:380V(-30%)~400V(+15%),

*Build-in Filter,with high EMC performance,which can work in the place with
electromagnetic interference;

*Items below 22KW with build-in braking system;

Support DC BUS mode and DC power supply;

*With various braking modes,such as dynamic braking,magnetic flux braking, and DC
braking,it can stop at once;

*No stop with instant power failure,which meets various requirement of the customers;

*Designed air flue,support hanging,floor standing,flange installation modes.
Dlnd

oLz 9 5Ly ol A9, g a8 iy S ¢ Control Vector  ad jico vwas @
C g s C80 ¢ Al Lo Ve 31 308 bgy (Badmwly Nies Cao pun 0 Cond (33 32 +/0 w5 18 10 7100 jolllS g9 @

t1+.Yoq0> 0
AC 3PH:380V(-30%)~400V(+15%); « )& aw jLdg 0 guwwg 21k @
DC 423%5 g0 9 DC b <l 00idS (ol (210 50 35 o b SlgglaS VY 05 Sleduo @
WSS Ao alizxd )0 Wilgi (0 4T DC 0 ¢ oumiblito «Sooliald 0,57 Jo (o3 <> glsil @
ol Coodl Pl jlown b yideo gl g a5 (§ ) abixd (2B )0 L3gF g @

Sl ool ()b gl jl cuad 9 AT (595 65158 (Slpgl ©oge deal Gl A gkd o @

www.Line-harekat.ir



Terminal Wiring Diagram

ORRORROD),

QRO

OREOREO)

485+|485-| Al1 | AI2 |[GND| S1 | S2 | S3 | S4 | S5 | S6 | T/A| T/B| T/C
OREOREORRORRORRORRORROARORRORRORKONEORN(),
+10V| AO1 | AO2 [GND |+24V| OP |COM|COM|CME|DO1| FM |T/A2|T/B2|T/C2
Terminal Mark Name Description
RS T Three Phase Power Input Terminals AC Input Three Phase Power Connection Point
(+)« () DC Bus Positive and Negative Terminals ~ DC Bus Positive and Negative Terminals
(+).PB PO%?EP onr;e?:aF;faL?E;tu:ﬁ'?é‘f;%’::;c??aw) Connection Terminals of Braking Resistance
Ro(r] Cc}?:;gfn"czggiﬁfzgmng External Reactor Connection Terminals
U.V.W External Reactor Connection Points Connected to Three Phase Motor
@ Grounding Terminals Grounding Terminals
Type Terminal Tafminal Name Function Description
Mark
Power Provide External +10V power,Max. Output Current:50mA.
External +10V : .
+10V-GND Bovier Generally used for external potentiometer working
power,resistance range of potentiometer:1kQ~5kQ.
EXternal £24v Provide Ext.el-'nal.+24v power,generally'used for working
+24V-COM power of digital input and output terminal and power of
Power
sensor. Max output current:200mA.
Connect via J9 wire in the controller board with +24V and
COM, default connecting is with +24V.
When using external signal driver digital input terminal
OP External Po‘wer S1~5S6,0P needs to wire with external power and need to
Input Terminal .
unplug J9 wire cap.
J9 wire cap short circuit pin 1,2 to +24V,short circuit pin
2,3 connect with COM.
Analog AIL-GND Analog Input 1.Input voltage range:DC 0V~ 10V
Input Terminal 1 2.Input Impedance:22kQ
1.Input Range:DC 0V~10V/4mA~20mA
Analoginpte ?.Input Impedance:for voltage input 22kQ,for current
AI2-GND Tatrinsl 2 input 500Q.
3.]8 wire cap short circuit pin 2,2 with voltage input,short
circuit pin 2,3 with current input.
51-0P Digital Input 1
Digital S2-0P Digital Input 2 1.Opto-isolator,compatible with bipolar input
Input S3-0OP Digital Input 3 2.Input Impedance:2.4kQ
S4-0OP Digital Input 4 3.Voltage range for electric level input:9V~30V
S6-0OP Digital Input 6
High Speed With characters of digital input terminal, it can use as high
S5-0OP Pulse Input speed pulse input channel also.
Terminals Max input frequence:50kHz
Analog Defined by 15 wire connection in the controller board to
Output have voltage or current output. Output Voltage
AO1-GND Analog Output 1 range:0V~10V Output current range:0mA~20mA
J5 wire cap short circuit Pinl1,2 select voltage,short circuit
pin 2,3 to select current.
Defined by ]J12 wire connection in the controller board to
have voltage or current output. Output Voltage
AO2-GND Analog Output 2 range:0V~10V Output current range:0mA~20mA
J5 wire cap short circuit Pinl1,2 select voltage,short circuit
pin 2,3 to select current.
Opto-isolator,bipolar open collector output
= Output voltage range:0V~10V Output Current range:0mA~20mA
DO1=CME DigitaliOutput - Note:Digital output Ground CME and digital input ground
COM are internal isolated. Factory default do short circuit
Digital of CME and COM from J10 wire in the controller board(at
Output that time DO! Default driver by +24V).If DO1 needs to
drive by exer
With the restriction of F6-00” FM Terminal Output Mode
FM-CME High Frequency Selection”.The max frequency is 50kHz when working as
Pulse Output a high speed pulse;same standard as DO1 when working
as a collector open circuit.
Normally Close
al/B Terminals
Normally Open . . R
Relay T/A-T/C Teiooate Contact point Driver ability:
Output Normally Close ACESDV, 84,COS0=04.
T/A2-T/B2 . DC 30V, 1A.
Terminals
T/A2-T/C2 Normal{y Open
Terminals
:::';1?;: 485+485- Com:'nsu,ltsifation RS485 communication,short circuit pin 1,2 of J14,it can

Terminals

match 100R terminal resistance.

Three Phases
380V

®
Digital Input 1 e o
Digital Input 2 o
Digital Input 3 o
Digital Input 4 o
Digital Input 5 o o
Digital Input 6 — Wirc?Jqughon
Circuit with Pin 1 and 2
DC:0-10V

DC:0-10V/0-20mA

indu) Bojeuy

\

O

)

S+
Rs485 Communication s

COM

10V

All
Al2

GND

1 Vv
JSB%A?I AOL (

V
AO2

TC

AO2

GND

Analog Output
0-10V/0-20mA

V/A

C V/A

O

TA-TC Normally Open Contact
TA-TB Normally Close Contact

\'
A2 18
l %

TA2-TC2 Normally Open Contact
TA2-TB2 Normally Close Contact

R
I

DC 48V/50mA

CoM
J10 [ |5~ CME

FM

(

L

CME

]z DC 48V/50mA

N

Terminal Wiring Diagram




Spindle motor »

.

BB

> e 9. )J‘g
5 S S i
Sy il o jleds

SPE)

A Ce
Ol 5
Suls

SRS

S 8
At A
OB SEA

la Koy by s jlad

SPE)

: 18000RPM
: 4. 5KW
: 2.39Nm
: 380V
: 15/9.0A
: 300HZ

:ER 32-0 3.175- © 20

) 58

.2 2*7008C P4,2*7002C P4

- 12Kg

: 24000RPM
: OKW
: 380V
: 20/32A
: 400-800HZ
: ISO30cone

) 54

.: 2*7008C/P4,2*7006X/P4

: 31Kg

www.Line-harekat.ir



Full-automatic lubricating oil
pump 2Liter

TYPE: hts02 TANK VOLUME 2L
VOLTAGE: 220V MOTOR POWER: 28W
ELECTRIC CURRENT: 0. 35A RATED PRESSURE: IMPa
FLOW RATE 50ML/MIN GREASE LABEL 328-64%
SINGLE WORKFLOW 0-99ML INTERVAL 10-999MINS

o bd oL

giex

® & | HTS02-D

Semi—automatic lubricating oil
pump l.8Liter

YR hts02-d TANK VOLUME 18l
VOLTAGE: 220V MOTOR POWER: 28W
ELECTRIC CURRENT: 0. 30A RATED PRESSURE: IMPa

FLOW RATE 50ML/MIN GREASE LABEL 32H-064#




Helical & Straight Racks

Helical Hardened Racks

L2

MOTION

Code

CHTMHO1510-DIN10

CHTMHO02010-DIN10 2
CHTMHO02020-DIN10 2

o~ Material S45C
443 Right Hand Angle 19 31 42"

2w Hardness: HRC 50~55
zkw Surfaces: Sand-blasted.

Code

CSTMO01510-DIN8
CSTMO02010-DIN8
CSTMO02020-DIN8
CSTMO03010-DIN8
CSTMO03020-DIN8
CSTMO04010-DIN8

D1
I [”T 1 -AO'--
A 0 _ . N AL | o
fxA5° I A T "E:
T I i 0 T
i v T
HU Y g | ] ] [T] /|1
2 o ¢d1
°31'42
19 oD
i {il / Dimension @ mm
Fta
Shodila L L2 ¥§ét?1f B Al D A ¢dl @D D1 11 @d2 KN
15 1000 6.00 200 17 155 625 145 6 95 31.7 9366 57 15 457
1000 8.50 150 24 22 625 15 7 11 31.7 936.6 5.7 8.56
2000 8.50 300 24 2 625 1B 7 11 31.7 1936.6 5.7 8.66
D1 .
-LA+ ) B o -
[ T e l
L:\ "SI P |
g7 7 ». | i
e 17 i i [
| ew
BT/ Dimension : mim
F
L No.of B A0 Al D | No of edl ¢D E D1 11 gd2 -
Module Teeth Holes s
1.9 999.03 212 17 17 155 6244 124.88 8 6 95 7 29 941.00 5.7 15 3.62
2 1005.31 160 25 24 22 62.83 125.66 8 7 11 7 313 94270 5.7 2 7.07
2 2010.62 320 25 24 22 62.83 125.66 16 7 11 7 31.3 1948.00 5.7 2 FudD
3 101788 108 30 29 26 63.62 127.23 8 10 15 9 344 949.10 7.7 2 12.61
3 203575 216 30 29 26 63.62 127.23 16 10 15 9 344 1967.00 7.7 2 12.80
- 1005.31 80 40 39 35 62.83 125.66 8 10 15 9 37.5 930380 7.7 2 22.21
3 201062 160 40 39 35 62.83 125.66 16 10 15 9 375 193560 7.7 2 22.63

CSTM04020-DIN8

o~ Material S45C
> Hardness: HRC 10~12

KG

21
4.1
8.2

KG

1.9
4.1
8.1
59
119
10.5
21.0



57HSxx Series

Unit: mm linch=25.4mm

L MAX ' 47144020 .
| P+
02015.35_-8013” g/@\@: gl
. il E@\J%s
16 P i
|21205 | |asd05 Tﬂf, T

3@ }.

YEL BIK

The Diameter of the shaft the 57HS22 is 8 mm, and those of other are 6.35 mm

Match Drives
Model
57HS04
57HS09

General Specifications
Angie Accuracy
Temperature Rise
Ambient Temperature
Insulatuion Resistance
Dielectric Strength
Shaft Radial Play
Shaft Axial Play

Match Drives

EM503 / EM705 / DM556

*5%(full step, no load)
80°C Max

-10°C - +50°C

100M Q min. 500VDC
500VAC for one minute
0.06 Max. (450g-load)
0.08 Max. (450g-load)

Model
57HS13
57HS22

Selection Table

phase NEMA
Size
2 23

aw

Model

57HS04

57HS09

57HS13

57HS22

YEL

em3m M

BRN BLK ORG WHT

Match Drives

EMS503 / EM705 / DM556

Current/ Holding
Step  #of Conection phase Torque Length Weight Match Drives
Angle Leads (A)  (Nm) L(mm) (Kg)
1.8 6  Series 20 0.4 41 0.45 EM503/DM556
Unipolar 2.8 0.28
Parellel 4.2 1.3
1.8 8  Series 2.1 13 54 0.6 EMS503/Em705/DM556
Unipolar 2.8 0.9
Parellel 4.0 1.8
1.8 8 Series 2.0 1.8 76 1.0 EMS503/Em705/DM556
Unipolar 2.8 13
Parellel 5.6 2.2
1.8 8  Series 28 22 81 1.15 EMS503/Em705/DM556
Unipolar 4.0 15

A stepper motor or step motor or stepping motor is a brushless DC electric
motor that divides a full rotation into a number of equal steps.

www.Line-harekat.ir




86HSXxx Series

Unit: mm linch=25.4dmm

0

¢0-0.027

P « e T

l.S_*'_

0
$73-0.046

¢98.4

69.6

The shaft of the 86HS45 is round, no flat.

Match Drives
Model

86HS35
86HS45/86HS65

General Specifications
Angie Accuracy
Temperature Rise
Ambient Temperature
Insulatuion Resistance
Dielectric Strength
Shaft Radial Play
Shaft Axial Play

General Specifications
Model

86HS35

86HS45

86HS65, 86HS85
86HS 120

Match Drives

EM705 / EM806 / DM1182

* 5% (full step, no load)
80°C Max

-10°C - +50°C

100M Q min. 500VDC
500VAC for one minute
0.06 Max. (450g-load)
0.08 Max. (450g-load)

T KEY D

/ / 9.5
/ / 12.7
14.7 §5'6"25 127

17.876 5'6*25 15.875

0
2510.1 11.7-01

12.7-0012

Stepper Drive

L)

RED

VEL 3 SLEADS
BLU 3
BLK il N

WHT ORG BRN GRN

Model Match Drives
86HS85/86HS 120
EM705 / EM806 / DM1182
Selection Table
Current/ Holding
phase NEMA Model Step  #of Conection phase Torque Length Weight Match Drives
Size Angle Leads (A) (Nm) L(mm) (Kg)
Parellel 4.0 35
86HS35 1.8 6 Series 2.0 3.9 65 1.7 EM705/EM806/DM870
Unipolar 2.8 25
Parellel 6.0 4.5
86HS45 1.8 8 Series 3.0 4.5 80 2.3  EM705/EM806/DM870/DM1182
Unipolar 4.2 3.2
2 34 Parellel 6.1 6.5
86HS65 1.8 8 Series 3.05 6.5 96 2.3 EMB806/DM870/DM1182/DM2282
Unipolar 4.3 46
Parellel 6.8 8.5
86HS85 1.8 8  Series 34 85 118 3.8 EMB806/DM870/DM1182/DM2282
Unipolar 4.9 6.0
Parellel 6.0 12
86HS120 1.8 8 Series 3.0 12 156 5.3 EM806/DM870/DM1182/DM2282
Unipolar 4.2 8.4
Control Power Matching Connector
Model Phase Series Type Voltage (v) Current (A) Motors Configuration  Type
AC DC Peak (NEMA)
M542 2 M  Step & Dir - 24 - 50 1.0-4.2 37, 23 DIP switch X
M752 2 M  Step & Dir - 20-70 1.26-52 23,34 DIP switch X
M860 2 M  Step & Dir - 24-80 24-72 17,23,34 DIP switch X
M880A 2 M  Step & Dir - 24-80 28-78 23, 34 DIP switch X
MA860H 2 M Step&Dir 36 -80 50-110 24-7.2 34,42 DIP switch X




|

LINE HAREKAT Co.

AXxIs Cover »

Ball Screw Cover »

Size no. A[mm] B [mm] C [mm] P [mm] Size no. A[mm] B [mm]
100 140 100 100 20 25 25 35
120 160 100 120 20 30 30 40
200 240 100 200 20 35 35 45
320 360 100 320 20 45 45 55
500 540 100 500 20 55 55 65
160 200 100 160 20
260 300 100 260 20
400 440 100 400 20
Standard Cover Width & Height
SHIM PLATE MAY BE P
REQUIRED FOR ' EXTENDED LENGTH
SOME COVERS COVER WIDTH 'W' r STROKE TR T COMPRESSED
THAT EXCEED » LENGTH T ————==—] |ENGTH
BEARING HEIGHT \ . R
At : CLEARANCE
% SHIM pet e
mcxnes& Ea o V% - 3823:
’ K e ;/" , .H.
s |
P i SEPARATE
LNEAR " o MOUNTING KITS
VAILAB
RAIL FORM FITTING PVC K-
BEARING INTERNAL SUPPORTS ~ LINEAR RAIL

Rail Cover »

Rail Size W H
15 59 33
20 64 34
25 67 39
30 72 43
35 78 45

45

www.Line-harekat.ir




| =

LINE HAREKAT Co.

Ball Transfer Units »

Part No.

SP12B
SP15B
SP22B
SP25B
SP308B
SP458B
SP60B

Ball Size
[mm]

127
15.8
22.2
254
30
44 .4
60

D
[mm]

22
24
36
38
45
62
100

D1
[mm]

31.5
45
45
55
75
17

Support Nut

h
[mm]

5.5
10
9.8

13.5
14
19
48

H
[mm]

16.5
21
30.5
31
36.8
53.5
il

Part No.

BSG 16 H
BSG 1616
BSG 20 H
BSG 2020
BSG 25 H
BSG 2525
BSG 32 H
BSG 40 H
BSG 50 H

Match Nuts

1605/1610
1616
2005/2010
2020
250572510
2525
3205/3210
4005/4010
5010

28
32
36
39
40
47
50

63 100
75 116

52

62

/ \

[ b "\\ 1""

| [ 282

~ 3
t — .
D -
— D1 e
H h E L C1 C2 P X

40 20 12 40 8 24 40 M5
38 19 8 40 8 24 44 M5
4 22 12 40 8 24 48 M6
46 23 11 40 8 24 52 M6
48 24 13 40 8 24 50 M6
56 28 9 40 8 24 50 M6
62 31 17 40 8 24 66 M8
70 35 19 40 8 24 80 M8
85 425 22 46 10 26 92 M8

42
47

51

65

78
93

M6
M6
M6
M6
M6
M6
M6
M6
M6




Support Units »

BK Series
(F) L

4-OX DRLL They B: /\ L&

QY C'BORE OP 2 / ‘

4-0g2 DALL Thry L-Ld w | — 3 IZIE[ o1

\:ﬁai1 \ I< % :EP: w f = - ’——ﬂll_“_‘——___‘:w‘n"
o @ D -
| = Pe &
BK 10~40
Model d4 L L, L, Ly B H b*002 h*t002 B, H, E P C C, d, X Y Z Collar Size oT Mess(g)
No. Ls Ls
BK6 6 23 5 24 4 52 32 26 17 25 26 - 38 - M5 - 66 1 6 5 5 12 230
BK8 8 23 7 26 4 62 32 26 17 25 26 - 38 - M5 - 66 M1 6 65 75 14 230
BK10 10 25 5 29 5 60 39 30 22 34 325 15 46 13 6 55 66 108 5 5 5 16 360
BK12 12 256 65 29 5 60 43 30 25 34 35 18 46 13 6 55 66 108 6 5 > 19 390
BK15 15 27 6 32 6 70 48 35 28 40 38 18 54 15 6 55 66 108 6 6 6 22 530
BK17 17 35 9 44 7 86 64 43 39 50 55 28 68 19 8 66 9 14 85 7 7 24 1270
BK20 20 35 8 43 8 88 60 44 34 52 50 22 70 19 8 66 9 14 8.5 8 8 30 1650
BK25 25 42 12 54 9 106 80 53 48 64 70 33 85 22 10 9 7S 11 9 9 35 2310
BK 30 30 45 14 61 9 128 89 64 51 76 78 33 102 23 1 11 14 20 13 9 9 40 3330
BK35 35 50 14 67 12 140 96 70 52 88 79 35 114 26 12 11 14 20 13 12 12 50 4380
BK40 40 61 18 76 15 160 110 80 60 100 90 37 130 33 14 14 18 26 175 15 15 50 6670
BF Series
2-OX OFLL Thwy B 4-0X DAL Thy 8
QY C'BORE DP Z ) p
' l QYCBOREDPZ I\ L | g
: T : : ! : 2 2 %1-: 4-0de DRILL Thru L-l-r’ HJ-H' . . ""1-'
@ - ﬁ%@‘ﬁ% 41
o : 1 i
B || o | & A @ T, it 4 X
' L P - €]
B
BF 10~40

Model  d1 L B H b+0.02 h+0.02 B1 H1 E P d2 X Y Z Mess(g) Bearing Snap Ring
BF6/8 6 14 52 32 26 17 25 26 - 38 - 6.6 i 12 120 606ZZ C6
BF10 8 20 60 39 30 22 34 325 15 46 0.5 6.6 10.8 5 260 60822 C8
BF12 10 20 60 43 30 25 34 L 18 46 8.5 6.6 10.8 6.5 270 600022 C10
BF15 15 20 70 48 35 28 40 38 18 54 §5 6.6 10.8 6.5 310 6002ZZ C15
BF17 17 23 86 64 43 39 50 55 28 68 6.6 9 14 8.5 680 62032Z C17
BF20 20 26 88 60 44 34 52 50 22 70 6.6 9 14 8.8 710 6004ZZ C20
BF25 25 30 106 80 53 48 64 70 33 85 9 11 17.5 11 1340 620522 C25
BF30 30 32 128 89 64 51 76 78 33 102 11 14 20 13 1880 620622 C30
BF35 35 32 140 96 70 52 88 79 35 114 1 14 20 13 2080 620722 C35
BF40 40 37 160 110 80 60 100 90 37 130 14 18 26 17.5 3100 620822 C40

www.Line-harekat.ir




L

FK Series
E 4-0X DAILL, THRU : &-ONOML Thy
-“71 e OY C'BORE. DP Z Ls G QY CBORE OPZ
-
/ﬁ’ s t - :g
& ;?C‘.r;.__.__4__|_-__-15 «| 8 _Z':I‘:‘l"- TP -3t e 8 .‘:_.f‘;z{x_ R I s a8 s :{:L-__-__l__t_:-l
g N g H s e & LN e = [RAN] | - o TNy 1 o= —it4
sb:l:m \ jduel 5T l==m= === W‘
| 1 P =5 s
£ _|H]tL L L ™ Flu]u T2
L L
[Howtoinstall A) [How to install B] [Howtoinstall A] [How to install B]
FK 4~8 FK 10~30
Model  dj L H F E D PCD oB HowtoinstallA HowtoinstallB X Y Z Collar Size oT  Mess(g)
No. Ly Ty la T2 Lsa Ls
FK4 4 15 6 9 22 18 24 29 99 2 65 3 3.4 6 4 35 35 10 40
FK5 5 165 6 105 24 20 26 26 65 35 6 3 3.4 6.5 4 45 45 11 50
FK6 6 20 7 13 29 22 28 28 55 35 85 45 3.4 6.5 4 7 o 12 65
FK8 8 23 9 14 335 28 35 35 7 4 10 5 3.4 6.5 4 i.n &5 14 125
FK10 10 27 10 17 295 34 42 42 5 B 85 6 4.5 8 4 55 65 16 200
FK12 12 27 10 17 295 36 44 44 75 b5 85 6 4.5 8 4 55 565 19 225
FK15 15 32 15 17 36 40 50 52 10 6 12 8 5.5 9.5 6 10 10 22 340
FK17 17 45 22 23 46 50 62 61 10 9 13 12 6.6 11 10 9 9 24 770
FK20 20 52 22 30 50 57 70 68 8 10 12 14 6.6 11 10 11 11 30 1065
FK25 25 57 2t 30 60 63 80 79 13 10 20 17 9 15 13 15 15 39 1465
FK30 30 62 30 32 61 75 95 93 1 12 17 18 11 17.5 15 9 9 40 2300
FF Series 4-0X DRILL, THAU
QY C'BORE. DP Z
CEER 'rl'l 8
o = RN §
H |F
L
FF 6~8
Model d4 L H F D A PCD B X ¥ L Mess (g) Bearing Snap Ring
FF6-8 6 10 6 4 22 36 28 28 3.4 6.5 3 30 606Z2Z C6
FF10 8 12 7 8 28 43 35 35 3.4 6.5 4 60 60827 C8
FF12 10 15 7 8 34 52 42 42 4.5 8 4 100 6000ZZ C10
FF15 15 17 9 8 40 63 50 52 5.5 9.5 55 140 60022Z C15
FF17 17 20 ¥ 9 50 77 62 61 6.5 11 6.5 290 62032Z C17
FF20 20 20 11 9 57 85 70 68 6.6 11 6.5 380 6204ZZ C20
FF25 25 24 14 10 63 95 80 79 9 14 8.5 590 620527 C25

FF30 30 &r 18 9 75 117 95 93 11 17.5 11 930 6206ZZ C30




" d NN I -

Cable Carrier »

Product Code. Dimension  Bending Pitch Weight
A B C D RadiusR Kg
CK15A015R025 15 15 20 23 25 25 0.23
CK15F 020 R035 15 20 20 29 30 25 0.27
CK15F 030 R035 15 30 20 39 35 25 0.30

Product Code. Dimension  Bending Pitch Weight
A B C D RadiusR Kg

CK20A025R040 20 25 26 37 40 33 0.40

CK24 B 060 R040 24 60 32 74 40 435 0.60

Product Code. Dimension  Bending Pitch Weight
A B C D RadiusR Kg
CK20Y 025 R040 20 25 26 37 40 33 0.40
CK20Y 040 R040 20 40 26 52 40 33 0.45
CK20Y 050 R040 20 50 26 62 40 33 0.50
CK20Y 060 R040 20 60 26 72 40 33 0.55

b J L1 SN
Product Code. Dimension Bending
A B C D RadiusR
CK24A025R 24 25 32 39
CK24 A040R 24 40 32 54 40,75,
CK24 A050R 24 50 32 64 100
CK24 A060R 24 60 32 74
Product Code. Dimension Bending
A B C D RadusR
CK25A040R 25 40 42 62
CK25A050R 25 50 42 72 40,75,
CK25A060R 2560 42 82 100,125
CK25A080R 25 80 42 102
CK25A100R 25100 42 122

Product Code.

CK30A040 R
CK30A050R
CK30A060 R
CK30A080R
CK30A100R

www.Line-harekat.ir

Dimension Bending
A B C D RadusR
30 40 47 62
30 50 47 72 50,75,
30 60 47 82 100, 150
30 80 47 102

30100 47 122

Pitch Weight
Kg
435 045
435 0.50
435 0.55
43.5 0.60
Pitch Weight
Kg
42 1.26
42 1.36
42 1.46
42 1.65
42 1.86
Pitch Weight
Kg
52 1.36
52 1.46
52 1.56
52 1.47
52 1.84




Product Code.

CK35A 040 R
CK35A050 R
CK35A 060 R
CK35A080 R
CK35A100R
CK35A120R
CK35A125R

Product Code.

CK35Y 040 R
CK35Y 060 R
CK35Y 080 R
CK35Y 100 R
CK35Y 125R
CK35K040R
CK35 K060 R
CK35K 080 R
CK35K100R
CK35K125R

Product Code.

CK42A040R
CK42A050R
CK42A060 R
CK42A080 R
CK42A 100 R
CK42A120R
CK42A125R
CK42Y 050 R
CK42Y 080 R
CK42Y 100 R
CK42Y 125R
CK42 K050 R
CK42 K080 R
CK42K100R
CK42K125R

35
35
35
35
35
35
35

35
35
35
35
35
35
35
35
35
35

42
42
42
42
42
42
42
42
42
42
42
42
42
42
42

Dimension

40 52 64
50 52 74
60 52 84
80 52 104
100 52 124
120 52 144
125 52 149

Bending Pitch Weight
B C D RadiusR

50, 75,
100, 150

Dimension

B
40
60
80

100
125
40
60
80
100
125

Dimension

B
40
50
60
80

100
120
125
50
80
100
125
50
80
100
125

C D RadiusR
52 64
52 84
52 104 100, 150
52 124
52 149
52 64
52 84
52 104 100, 150
52 124
52 149

Bending
C D RadiusR
58 67

58 77

58 87 75,100,
58 107 150, 200
58 127
58 147
58 152
58 77
58 107
58 127
58 152
58 77
58 107
58 127
58 152

100,
150, 200

56
56
56
56
56
56
56

Bending Pitch Weight

Kg
1.45
1.53
1.61
1.76
1.91
2.06
2.13

Kg
56 1.56
56 1.66
56 1.76
56 1.86
56 2.00
56 1.68
56 1.78
56 1.88
56 2.15
56 2.35
Pitch Weight
Kg
62 1.68
62 1.74
62 1.80
62 1.93
62 2.06
62 2.20
62 2.28
62 1.90
62 2.02
62 2.14
62 2.26
62 2.36
62 2.48
62 2.60
62 2.72

—ee e e e D —h e — A -

Product Code.

CK40A080R
CK40A100R
CK40A120R
CK40A 140 R
CK40A 160 R
CK40A180R
CK40A200R
CK40A100R
CK40A 100 R

Product Code.

CK60A080R
CK60A 100 R
CK60A120R
CK60A 140R
CK60A 160 R
CK60A 180 R
CK60A200R

Product Code.

CK60 Y 080 R
CK60Y 140 R
CK60Y 200 R
CK60 K080 R
CK60OK 140R
CK60 K200 R

Dimension
A B CD
40 80 62 108
40 100 62 128
40 120 62 148
40 140 62 168
40 160 62 188
40 180 62 208
40 200 62 228
40 100 62 128
40 100 62 128

Dimension
A B C D
60 80 82 112
60 100 82 132
60 120 82 152
60 140 82 172
60 160 82 192
60 180 82 212
60 200 82 232

Dimension
A B C D
60 100 82 132
60 140 82 172
60 200 82 232
60 100 82 132
60 140 82 172
60 200 82 232

Bending
Radius R

75,100,

125, 150,

200, 250,
300

125, 150,
200, 250,
300

Bending
Radius R

100, 150,
200, 250,
300

Bending
Radius R

150, 200,
250, 300

Pitch Weight
Kg
72 285
72 299
72 3.1
72 3.24
72 337
72 3.50
72  3.63
2 317
72 3.24
Pitch Weight
Kg
91 2.98
91 2.1
91 3.24
91 3.37
91 3.50
91 3.63
91 3.76
Pitch Weight
Kg
91 3.00
91 3.40
91 3.90
91 3.50
91 3.90
91 4.40




polie jlow i3l @

cuai >, o
cad (9) 3l B gl Sl

b 5 5 gm0 - BMS

cibics Slatl g 0305 2 @
S8l 5 (53908 sl yome lyil > odlizl L @

Gten 4,SuWJb o500
Vb pdy ciS g 2B

&
0l (fr e ATl LB jos @

o o S g b il oly joilS @
@

3 Jlpl g CNC YT uidle p3 38

Match 3 g Jzs

Mach3 sls 4 plosjl oS Sl o

Nol&iws 9,5 hgels ads USB cuai b (gilulanjl LIS sloi, o
3315 i3 051, USB Jball gy alid pa &)l

e £ Sl b glily e

Cawl ¥ooKHz pl§ 4 p5 b i, @

USB Juasl ool ol > Wilgi oo Cundg a3l Y9 8008 ablud 90 @
D9 @ly dade ¢ (155 Camdg (3 QLS sl 35wt by

oyglaio don (63959 V7 @

PpMach3 L, ¥ 5,5 s590 8ly Cs po c ol Cas 3,55 (s @
SO kel axiio

Ml 3 )Sdas (315 ¢ 29,3 [0539)9 g A4S S0S SIS @

HQ (water cooled) 590 Jsiuamw!

Swely (sl Syl (61>

Oly oS 0.0 Jl Olg olS V.0 21y 5o

alpd ¢ S o « B (59) )8 Clles ogats
ol sl sl

O )9S cale

Liming .5 ,5

Vi B b ggsls 5 saudygs (sl (uSopS
ol e () S

ogaogl] Judg

CNC g  gaio SYT udle jol8 g ol ol g cunlie
calises dlal g 3ol o

RICHAUTO s, DSP ) s

(y3e ¥ 9 ¥) y92ee CNC sla o&iwd g ba @by & Ll B
FomalS & 5l e

USB & Jlail cubils

STEPPER MOTOR 4 SERVO MOTOR g ;lul ol

e s e 0 (o))
u‘.‘a)a,uf& Lglb olRiwd Lgl)a WLG

www.Line-harekat.ir



|

LINE HAREKAT Co.

s PLC B2 9A2 6,..»1:1:),3,@”,..»

CJ",L_‘Y.OU‘.Y é.;)).) &
%Y‘ 9\VC4§.)L’)J9$|| ®

KFY U g dsbpcus )b o
MPG (5393 jl Sludy @ (
M-code 3 G-code | Jlii, e sdlazdl Hlibl o ) @
Oloj o Cjgo 2 ¥ S cllBL @

3D Cuslge S Cps L dadls £F )b e

U%,)&/d.),), MYULY¥ ‘_§|)|.) o

s HMI W 5 9!
EL,M,B, C200, LS600, L : ;uss o 5w

SD Q)K )’1 d@.&: @
M, B, C200, C2000 , CP2000 : 5 aw gl (g pu

2 Ve ¥ b lo > @ (

onb 9 Vb la s 139290 @ P Fee WilSyd Sl @
s> PLC <l @

S ki jl Sy @

] Sy 5§ .
Jeial Kyl s 510 Kyl
oS p b eS Ul jleas adle @ Ok yp b 013 S 5 oguasie ST L 3Ygh > 5 @
Cagb) 5 oyl 3 pslic @ ( bl (g @
M Sl dasdBee Byl ply 3 polie @
3 )l 2 pglie @
Wk i cole ®
Jw] o guasco Syl dlwd y5 03, aly

Yb&ﬁ)ﬂ)))l{%ﬁ .
polie g S jls @
Sl @l @

e



|

LINE HAREKAT Co.
Jw! Olahad ADtech s
: Jold il Sa cleda3 @ ‘ Motion Control (sla dwgy (¢ly cuwlio § G-CODE | Jlui, e
St - b B Sl sy 0p- 5 0 PG Madbos 50y ) ciely @
N REAL TIME J,;i8 559eG @
_ MOTION / 2990 il b ygige g9y yoe FU S culls @
oyl Gl g LAN L L o)l pais Jlail el @

&l 4l aid Radonix ,J s

G yge g Slo Juegd > @ 40 gy Beeeee Ui2s ey o

SRR LT Olojob jye (i ]S @

IVl e Jioms (255 Y 55995 Y @

el jeiS cilo o PWMy Sglil 2557 @

Jule; Jad YF Job celw )y @

9B 9 oa (2 Cgou) cuadl Sl @

9 g ¥ ¥l Joo o @

youolS 5l o ¥ Al GLAN &)y @

LHC .5, 1ISO30 42580 9 Suid gl Saosl Je

tJold e sld i > @
XL,LLH,YM,OM,AM ,Td, T\ ,B-H,B-L

OW,M&"" @
alises dlal g plw 0 @
dlises gl oye > @

Olg gbS Yo el oS o g ) 0 @
Sailegily guwd Hll Jagd Jaogd 0 o
Ul jeis cale o

Other product »

www.Line-harekat.ir




	Slide 1
	Slide 2
	Slide 3
	Slide 4
	Slide 5
	Slide 6
	Slide 7
	Slide 8
	Slide 9
	Slide 10
	Slide 11
	Slide 12
	Slide 13
	Slide 14
	Slide 15
	Slide 16
	Slide 17
	Slide 18
	Slide 19
	Slide 20
	Slide 21
	Slide 22
	Slide 23
	Slide 24
	Slide 25
	Slide 26
	Slide 27
	Slide 28
	Slide 29
	Slide 30
	Slide 31
	Slide 32
	Slide 33
	Slide 34
	Slide 35
	Slide 36

